EARAROBEEIERT — 2 N— IBISH —F

2018510828 (:K) AEIBR#H9H

BEY - r715Fs #-7> ¥5%3@t (ER) (B AT

‘KEEﬂi} 8 ‘ (EmmEl  — |2 () 16000 &

[A®%] 1 7% 23,000,000 @ ~ 2 #:9,200,000  ~ 3 7#:5,800,000 ™

4 7% 13,500,000 . 5 & :2,300,000 F

ABICOVWTRDTEEERROODE. TR LIV,

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
2 R s 5 | JIBEZ 1:34.0 4-4 33.7106.0 | 1 464 | BT (FH)
11717132 /7%7>—F 54.0 =) +2) E%%E%
:XFAT—IVF BiNERXT4—1— FREHRS
S ERI R i 6 | BBRE 1:34.0 2-2 34.1(106.0| 3 508 | TERRX (ER)
NAFHZ2y 57.0 (7€) (2) | TSR -T2 TR ()
L:24%Y v ML B:a%/3—X4K BREB 45
$= “ s 3 | dtRER— 1:34.3 6-5 33.8(102.8| 2 442 | BERM (RR)
DINT 1 N1 53.0 (' 3/4) (a) | (B) HEL-ZH-2
X THANKIN B RING LN HET7—L
= o5 4 5 | BRERS 1:34.5 3-3 34.3[100.5| 4 506 | EEZE (RR)
77y 7 AEXRI 56.0 (1 1/4) (-a) @ pF-L—s
L=/ F¥LLy b BELHFA R J—H Ty — I
— N HZIEH :34. — . . TFEZ2 (ER)
FoamFL U i 5 A 1(/%;)5 6-5 34.0100.6| 5 (i?g) T
XA avHayy B:Fraysyx— BB
. = 6 | FXEA 1:34. 1-1 . . 2 | BAEE (FXR)
6l5|5| 7Y XATTX=-I * 54.0 (13/2)6 %3 %17 ?_()(3) (%) 7R—I
AR w4 =7 BUXACTHLZ B Al ®—
— 8 BHZ : - HEE (FH)
R EEE TR F s i o8 s 1.(385>.9 4-5 35.5| 85.8 | 6 22) :@Iﬁ
R:TF7v 784K B:U95X4— BREHT Y KF9 T - Tr—LA
@ 21 L
£ 46.3-34.7
NA>ZA LA | 12.4-11.3-12.1-11.9-11.6-11.0-11.9-11.8
® 1—F—@EBIERL
13—7F-
Pal=5F=
== 5-4-2(1,7) (3,6)
43—+ — 5-4,2,7(1,3,6)
[ N5
B 7 300M 714K 4-7 260M B E 4-7 7208 JEE 3-4-7 720M
# B 7 160/ 3-7 220M B H 7-4 1,390 JEE 7-4-3 3,760
4 220M 3-4 300M




